

Oddělení A:

Př. 1: Sečti:

$$256 + 36 + 1008 =$$

$$9652 + 654 + 20 =$$

Př. 2: Odečti:

$$15200 - 12926 =$$

$$76320 - 899 =$$

Př. 3: Vynásob:

$$27 \cdot 63 =$$

$$157 \cdot 53 =$$

Př. 4: Vyděl:

$$345 : 15 =$$

$$1911 : 13 =$$

Oddělení A:

Př. 1: Sečti:

$$256 + 36 + 1008 =$$

$$9652 + 654 + 20 =$$

Př. 2: Odečti:

$$15200 - 12926 =$$

$$76320 - 899 =$$

Př. 3: Vynásob:

$$27 \cdot 63 =$$

$$157 \cdot 53 =$$

Př. 4: Vyděl:

$$345 : 15 =$$

$$1911 : 13 =$$

Oddělení B:

Př. 1: Sečti:

$$236 + 56 + 1008 =$$

$$9632 + 654 + 40 =$$

Př. 2: Odečti:

$$16200 - 13926 =$$

$$76310 - 889 =$$

Př. 3: Vynásob:

$$23 \cdot 67 =$$

$$153 \cdot 57 =$$

Př. 4: Vyděl:

$$480 : 15 =$$

$$1937 : 13 =$$

Oddělení B:

Př. 1: Sečti:

$$236 + 56 + 1008 =$$

$$9632 + 654 + 40 =$$

Př. 2: Odečti:

$$16200 - 13926 =$$

$$76310 - 889 =$$

Př. 3: Vynásob:

$$23 \cdot 67 =$$

$$153 \cdot 57 =$$

Př. 4: Vyděl:

$$480 : 15 =$$

$$1937 : 13 =$$

Oddělení A:

Př. 1: Sečti:

$$256 + 36 + 1008 =$$

$$9652 + 654 + 20 =$$

Př. 2: Odečti:

$$15200 - 12926 =$$

$$76320 - 899 =$$

Př. 3: Vynásob:

$$27 \cdot 63 =$$

$$157 \cdot 53 =$$

Př. 4: Vyděl:

$$345 : 15 =$$

$$1911 : 13 =$$

Oddělení A:

Př. 1: Sečti:

$$256 + 36 + 1008 =$$

$$9652 + 654 + 20 =$$

Př. 2: Odečti:

$$15200 - 12926 =$$

$$76320 - 899 =$$

Př. 3: Vynásob:

$$27 \cdot 63 =$$

$$157 \cdot 53 =$$

Př. 4: Vyděl:

$$345 : 15 =$$

$$1911 : 13 =$$

Oddělení B:

Př. 1: Sečti:

$$236 + 56 + 1008 =$$

$$9632 + 654 + 40 =$$

Př. 2: Odečti:

$$16200 - 13926 =$$

$$76310 - 889 =$$

Př. 3: Vynásob:

$$23 \cdot 67 =$$

$$153 \cdot 57 =$$

Př. 4: Vyděl:

$$480 : 15 =$$

$$1937 : 13 =$$

Oddělení B:

Př. 1: Sečti:

$$236 + 56 + 1008 =$$

$$9632 + 654 + 40 =$$

Př. 2: Odečti:

$$16200 - 13926 =$$

$$76310 - 889 =$$

Př. 3: Vynásob:

$$23 \cdot 67 =$$

$$153 \cdot 57 =$$

Př. 4: Vyděl:

$$480 : 15 =$$

$$1937 : 13 =$$